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Ay=Bpk=1,....5—1,j+1,....,m 1M B; = A; + \A,,
Hrpi £ 7 MANeR N BWEATRHRELL V(AP 7T
Vi(B) C Vi(A) (38 &8 —dramadl 1.25 (i), BN # 5,
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W rank(A) = rank(B).
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4.1 ZEMZy

EIE 4.1 X L RAUERE B = (Alb) € R0+ 438 5 45
%09 n L& AZ 0.

(i) L #8534 HAL Y rank(A) = rank(B).

(ii) L # % % HAX Y rank(A) = rank(B) = n.

EH. () W LA Wb e Vi(A) (W FH I
1.4). TR, V.B) C V.(A) (3 &5 Far i 1.26 (ii)).
ATRAH VI(A) C Vi(B). # V(A) = Vi(B). M
dim(V.(A)) = dim(V.(B)). T #&, rank(A) = rank(B) (% —
= T RE R 3.6).

2., W rank(A) = rank(B). N dim(V,.(A)) = dim(V,.(B))
(56 — w5 ke B 36). BIA V.(A) C ViB), FrLh
V.(A) = V.(B) (38 %% —Jrdr A 2.13). A5 2
b e V.(A), Bl L A& — &% 1.4).
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H (Br,....8,) & LI W (ar+ B, ... 00 + Bo) 1
LW BN L#E, Ffibhay ==, =0. HILAH
AW A TR

k2, % rank(A) = rank(B) = n. 1 (i) AT 0 L AHZ.
Wb e V.(A). BN dim(V,(A) =n, BTEL AL A0 2
Vi(A) B —H I TR, FAEME R A,...,\, € RIER
b=MNAD 4 X AM (NN R L ME—fR O

HEI® 4.2 % H R A e R™ A RESEIRE n LT
KEMWHALE. W H A IE-F LA S HAL Y rank(A) < n.

JER. VRS H ZLL B = (A|0,,) NI FERER n ot
FFEH. B rank(A) = rank(B). R EE 4.1 (ii). H A
A Mg 2 HAL S rank(A) = n. O

FEN T, B n ADNTTRRA R n oot J7 FR 4L LY
Bz ik, FAgH A ER.

HEIL 4.3 X L RS B = (Alb) € R+ 3 45
[ty n LERMETAZA. W L AR L HAXY rank(A) = n.

IERA. WL W, WRPEEIE 4.1 (i), rank(A) = n. RZ, &
rank(A) = n. N

n = rank(A) < rank(B) < min(n + 1,n) = n.

i rank(B) = n. MRAEEH 4.1 (i), L #iE. O
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HEE 4.4 X L R4S B = (Alb) € R+ 3 45
ety n TEM TAEE, H RV A KN FRIEIEGFR &M
AR, W L#E s BRE H#Hx.

IEBA . HHER 4.3 AR, L g 2 HAL S rank(A) = n. B
HER 4.2 AT, rank(A) = n [ HAY H ZFF g O

B 4.5 AHAT4FAI2F5 5% L TP P AL

4.2 TEID
EIE 4.6 (BT, HAEEMR) X H AR AR A
RISk KT AL, N

dim(sol(H)) + rank(A) = n.
JEBA. Wor = rank(A). Ak AV A0 R V(A)
HEE MHMER j e {r+1,...,n}, 1+1E Qjlyeeey, iy 515

A0 = 0 AV 4o gy, A0,

v, = (aj1,. ., q,0,...,0,—=1,0,...,0)", Hr —1H
AR jAE W vy, v e HIKME B -1 1
v, T AL B AT W E v, .., v RS OR. XHEE
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Hr By,..., 8, € ROXZRFA sol(H) & T (%
S— 9 1.18 Fldrt 1.17). Bk AT,

BAD £ ...y BAM =0,
W B =---=8=0. H (1) AT,
Z = (—211)Vrs1 + -+ (—20) V.
BET, Vg, ..., vy 22 sol(H) B3, it dim(sol(H))=n—r. O

5l 4.7 FHE TR FR&MESTAZE O

)
T1— X9 —23—x4 = 0
S 1+29—2x3+24 = 0
\$1+$2+$3—$4 =0

iR A ey —2a A
fitt. %A R SR

1 —1 —1 —1
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1 —1 -1 —1 1 —1 —1 —1
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T &, rank(A) = 3. BRIELHE /.0, dim(sol(H))=4—3=1. &
B T 4, R A TAZBLEN T

( (
T1— X9 — 23— x4 =20 T — X9y — T3 = 24

{ 2294+ 224 =0 FMNT S To = —Ty

\2263—25174:0 T3 = T4

\
Zir\ Ty = 1. ﬂ’] X3 = 1, X9 = —1, Tl = 1. 127?7F§éﬂ7é]—3”5/i’\ﬁ§—
v=(1,-1,1,1). & sol(H) 9*X R v. BB &aH X,
HAA sol(H) = {\v ]|\ e R}

WM e R Z2ZMEmIE. W M W77 R 4E50E SO M1
5, il dim(M).

HEE 4.8 L L A B = (Alb) € R+ Jy 3 5 45 [% 44
n UL TR, e X L AR, N

dim(sol(L)) + rank(A) = n.

UL W H GELLA € R™ N R R n o657 IR 2k
WOTRAL v € sol) MRS EE— il 12
sol(L) = v+sol(H). T2, dim(sol(L)) = dim(sol(H)). FIR
e HE 4.6,

n = dim(sol(H)) + rank(A) = dim(sol(L)) + rank(A). O
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51 4.9 A2 F P &M ZA24 L

.
Tl — X9 — T3 — T4+ X5 =

1
{ T1+x9o—x3+T4+25 = 3
5

\ 3r1 — Ty — 3x3 — Ty + x5 =

& AT .
R ZHALLAGYIE 4R
1 -1 -1 -1 11
=Ab)=|1 1 -1 1 13
3 -1 -3 —-135

~ =3
S

WL F 4T R BRIF

I =1 -1 -1 11 I -1 -1 =111
B— |02 0 2 02|—1]0 2 0 2 02
0 2 0 2 02 00 0 0 00

T A&, rank(B) = rank(A) = 2. RIERE /.1, [ 1A% RIE
€32 4.6, dim(sol(L)) =5 —2=3. @EHMH LT 4, &<
AR FN T

Ty — Ty — 23— x4+ x5=1 Ty —To=14+x3+ 14 —T5

FHT
209 + 214 = 2 To=1—x4.

ry=xy=x5=0. &MNFE v=(21000)"=2LA—
A (4§ )R
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Fos RARAEEG S HEET 4, L ARNRKEE
Ma9 R &M AR H 0T

T1— X9 — T3 — X4 +x5=20 o Tl — Ty = T3+ Ty — Ts
{ FIT {

2$2+2334 =0

/\7’3'] r3 = 1LL’4ZLL’5:O‘ $3:O,$4: 1,%5 :O,'
T3 =x4 = 0,25 = 1. KAVF R H 69 = /NI K 89 % :

w; = (1,0,1,0,0)", wy = (0,—1,0,1,0)", w3 = (—1,0,0,0,1)".

B sol(L) = v + (wy, W, W3).

5 ArRRZS(8) 2 [8] B 2 AR St
5.1 TN (5EELEH) MHE

EX 5.1 & ¢:R" — R" ZBegf. e X34 E x, yeR”,

a e R,
Px+y)=0o(x)+dy) A ¢lax)=ap(x),
g ik sk
W AR b A L i

80 5.2 % 6 R" — R™, BEgt o R &MY B Yt
& xy eR" a,f R,
plax + By) = ap(x) + Boly) .

[ 4525 P a5
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TEBR. W o LR TERY. |
plax + By) = ¢p(ax) + ¢(By) = ad(x) + Bé(y).

W RIFEMIERE. 2, Bl a = 6 = 1153 ¢ REFINE,
5 =013 ¢ fReFEGE. O

Rl 5.3 X ¢ R" — R™ & & M4t 0
(i) $(0,) = 0y,;
(ii) SHEFE o, ..., ER,vy,...,v; € R,
dlarvy + -+ apvy) = agd(vy) + - - - + apd(vy).
R (1) BATEHE
¢(0,) = (0, + 0,) = ¢(0,) + ¢(0,,) = ¢(0,,) = Oy

(i) XF & VA495. 2 k = 1,2 B, G518 A7 (Al 5.2). &
k> 2 HEwWxT k— 1 %z, W

: b1
¢ (Z Oéz'Vz'> = ¢ (Z Vi + @kvk>
R
= ¢ (Z aivi> + ¢ (apvy)
e
= wid(vi) + apd(vy)
i-1
k
= Z a;p(vi). O
i-1
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5] 5.4 % \ € R.

@D/\Z R" — R"

X — X

BN, M AEFRS. B \=00, ), BEBRSHE. F
A=1 B, o) A8 B4t

5 5.5 % v € R"\ {0}.

T, : R" — R"

X +— V4 X

TR, EARH T,0)=v £0.
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